Question Paper Title : TI_33

Date of Exam : 25-07-2019 10:00 AM

Reference I1D:(16918)

Answer:

Reference ID:(16916)

Answer:

Reference ID:(16905)

Answer:

Reference ID:(16668)
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Choose the most suitable conjunction for the given sentence:

As an actor, though he has no talent, his fans adore him.



Answer:

Reference ID:(16682)

Answer:

Reference ID:(16688)

Answer:

Reference ID:(16689)

Answer:

A.because
B.since
C.for

D.yet

D.yet

Yaid arITe UhR Sieswl.
q 3% TG Hal AN TR W& TaP! oidhdr .

A Hhardf are

B.FY It
C.Hgd a1’
D.%dd dId]

A Hharedf gt



Reference ID:(16943)  1efl Ush B1H 20 fawid B Xdbd. q1f-am g Tnefiuar 25% 3ifeie srfem
3T, 9 H1H HUGI3] dii-arar fadt fdaw arrdia?

A.15 fgag
B.16 faad
c.18 fqag
D.25 fdaq

Answer: B.16 fdag

Reference ID:(16673) Choose the correct form of tense for the given sentence.

Keval in this office for the last five years and
sincere worker.

A. worked, is
B. has been working, is
C. has worked, is

D.working, is

Answer: B. has been working, is

Reference 1D:(16657) Choose the appropriate collective noun to complete the sentence:

In India, just before winter sets in, there can be of gulls seen
migrating to warmer regions.

A.colonies
B.groups
C.broods

D.crowds

Answer: A.colonies

Reference ID:(16678) ﬁmmT Gmﬂthmtvﬁmﬁ@



B.3{[gchg

C.3fidcgRe

D.3ffgefdwe

Answer: A.3fidciddce

Reference ID:(16920) A& IdIG 0T Ha- HRUMAT UTd <RIl o d-He 39 I, TRRA <t
AT YR Bl WTAAUeh! HIvN T HIRTET ST ATG1?

A 3T <1 sriRgRE
B.SaTCRI & AIh T S
C. S & IR
D.ZSHIREA ¢ AT Srfiu=H

Answer: B . giceRig ¢ bl SRNRusE

Reference 1D:(16655) Choose the correct form of adjective for the given sentence:

Saravanan has sharply varying moods; he is

A.amiable
B.touchy
C.temperamental

D.ill bred

Answer: C.temperamental

Reference 1D:(16450) Choose the word that is spelt correctly.

A.Pennyless
B.Peniless
C.Penniless

D.Penniliss



Answer: C.Penniless

Reference 1D:(16697) W s s 3{Iesl.

A JCTSTIAT
B.UciSTgUT
C.TIfIToT
D.UfdR(uA

Answer: C.ElﬁTSTCHT

Reference ID:(16915)  SIerAATc ST §ThiS HI0TAT a8 g8 8Id?

A.1917
B.1919
C.1922

D.1930

Answer: B.1919

Reference ID:(16690)  Jald ArTciel TRRAT ST UhR 5.
IEY W A1, €1 ¢ IGUdTH.

A R[eSTN 30T
B.fohafaivur srem
C.3Hgra4l 39y
D.haqydNil ey

Answer: B.forarfa=iyur 31y

Reference ID:(16937) ;=01 ARfd Qv 5/7 AT AT HRUMRT Uh HR 42 fhHT 3R 1 9 40
e 48 YdHamed Ul Hxd. HRAT IRATAD a1 B 3HTG?

A.30

B.35

C.25



D.40

Answer: B.35

Reference ID:(16696)  Udld Usard! fava el

Answer: INCEEE

Reference ID:(16667) Choose the appropriate prepositional phrase for the given sentence:
Can you help me ?

A.in any way
B.by all mean
C.at random

D.at a price

Answer: A.in any way

Reference ID:(16671) Choose the correct form of verb that is in agreement with the subject:

She at the top of her voice to gain the attention of the gardener.

A.shout
B.shouting
C.has shouting

D.is shouting

Answer: D.is shouting



Reference ID:(16659)

Answer:

Reference 1D:(16939)

Answer:

Reference 1D:(16911)

Answer:

Reference ID:(16683)

Choose the option with the appropriate suffix to complete the given
sentence:

Excessive to detail may be treated as a compul disorder.

A.-ion
B.-sive
C.-orily

D.-sively

B.-sive

50 AT G- HITTHED [AHTTT, SaTHes gk SRSl (1/12) 31d, T ST a1

3fTe:

A.20,30
B.24,36
C.28,22

D.36,14

A.20,30

3PS WU HIUAT SR HRAT 24 THTE 60 JTH3N Higle
ST o= fasiar vt facht

AR
B.9IH
C WG 1y

D.WIY

C ged 313

qTRITdTel Rsaidl A1 vl A A1 T d1oR 3fosl,
A FERIITAT Ui 3Rl T 3T

B. 3Rl Uil HERIYTAT 3118 IS



C HERIYTAT 3Rl 31Te UiEHe T,

D.9HG UfEHeT HERIPIAT 318 3R,

Answer: A FERTYTAT Ui 3Rl T 3fTe.

Reference ID:(16686)  fedied ®1eId URad- ®RUgMNTS! TRg Taiy fAgsT.,
o fdy forgld SIeA. (@reT adAmsTes)

A ferdta wirat
B.fergat
c farfge
D ferfga

Answer: D.ﬁﬂ%?ﬁ

Reference ID:(16947) 5 forHt/amTr=aT & ATAUIRT Udh k! U gd 15 ffeied sfidfsd. garen
diell BT 3MT8:
A.1000 Hcx
B.1050 Hicd
C.1200 Hicd
D.1250 Hed

Answer: D.1250 Hicd

Reference ID:(16653) Choose the sentence with the correct punctuation to convey the right
meaning.

A.Barbados is a beautiful country the beaches are warm sandy and
spotlessly clean.

B.Barbados, is a beautiful country the beaches are warm: sandy and
spotlessly clean.

C.Barbados is a beautiful country: the beaches are warm, sandy and
spotlessly clean.

D.Barbados is a beautiful country; the beaches are warm, sandy and
spotlessly clean.



Answer: D.Barbados is a beautiful country; the beaches are warm, sandy and
spotlessly clean.

Reference ID:(16934)  Resr SIft v S FagH @ quf &
4,4,6,12,30,__ ,315

A.60
B.75
C.90

D.115

Answer: C.90

Reference ID:(16699)  JaId addTd GARATd 3 dTeRER Hagl.

ArferarE-t arsie) WU ssas .

A.dISIE 9o
B.ddSId 9Tasul
C.UIERT Ul

D. 9T faaRur

Answer: A.Fﬁ?aw qur

Reference ID:(16921)  WIeiciUeh! BIUMd HERTY AsurHefiel Fafd o faemdis sirg?

A Rrarsit fagmdite
B.gIfdAETs Bo qul faemmdias
C.4ss faemdis

SRS GEISUICICIRCENCRIN RN

Answer: c.4qss faamdis

Reference 1D:(16676) ﬁéwmwwﬁ faegrdf wrsg s,



Answer:

Reference ID:(16654)

Answer:

Reference 1D:(16923)

Answer:

Reference 1D:(16909)

B.I[UTaT
C.Hal

D.famt

D.fawt

Choose the correct form of adjective for the given sentence:

Sanjana is determined to get what she wants and in the process she does
not mind even if she hurts people. She is

A.enterprising
B.ruthless
C.unscrupulous

D.brave

B.ruthless
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Answer:

Reference 1D:(16695)

Answer:

Reference 1D:(16910)

Answer:

Reference ID:(16672)

Answer:

D.77a faen

D.d! faeett

Jeld drardid farmfrg sfieswr.
Y, dgTUr &R draHie geard et |

A IR
B.3yuifrg
C.3aRfIg
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Out of the following options, identify a simple sentence.

A.Amit has just bought a property in Lucknow.

B.Amit has just bought a property in Lucknow, it is located in Gomtinagar.
C.Amit and his brother have just bought a property in Lucknow.

D.Amit has just bought an extremely expensive property in Lucknow, in

Gomtinagar.

A.Amit has just bought a property in Lucknow.



Reference ID:(16935)

Answer:

Reference ID:(16666)

Answer:

Reference ID:(16936)

Answer:

Reference ID:(16661)

AT TN 80% & HIGTT AT 40% Ul 4 = HH! 3Mgd. A3 TB 6t
AT TAUET 125 3 AT 3MTg. TT S T SRS 31Tg:

A.325
B.345
C.355

D.365

C.355

Choose the appropriate prepositions for the given sentence:

It takes a creative person to come up ideas new products.

A.outof ... in
B.with ... for
C.for...on

D.through ... of

B.with ... for

TOrd, iR 3O TRRIRET=T 3 YueAe] fieTae SRdtd ST 101 §
3T 1:2:3 TOIRRM YT Fd T sied. ke Tforamed 40%,

i AHRATHE 60% ST IR UURHED 35% T[0T fesTal. e

U Ul fobclt Tdap T[0T fHesTel?

A.44%
B.32%
C.50%

D.60%

A.44%

Choose the appropriate articles to complete the given sentence:

____lubricating oil is put on machine parts to make __ machine run
better.

A.An... no article required ... the

B.No article required ... a ... a



C.A ... no article required ... an

D.A ... no article required ...the

Answer: D.A ... no article required ...the

Reference 1D:(16660) Choose the appropriate articles for the given sentence:

Middle East has more oil in ground than United States.

A.No article required ... the ...a
B.The ... a ... the
C.The ... the ... the

D.No article required ... no article required ... the

Answer: C.The ... the ... the

Reference ID:(16681)  R&TH! SIRT 4R,

Answer: A.H’T{UR?Cﬂ

Reference ID:(16929) <19 SaaciiedT A HI g4 UMK 4:7:9 3115, 3116 aN(Ydl, fea aard! sisl 56
BT, i IHH 99 FleT (auide).

A8, 20, 28
B.16, 28, 36

C.20, 35, 45

D.JiUe! HIUE! ATel

Answer: B.16, 28, 36

Reference ID:(16945)  3{TSl YEHAR TR, 126 fGawi- Pivral feaw sRia?



Answer:

Reference ID:(16664)

Answer:

Reference ID:(16651)

Answer:

AXHAR

B.RIMAR

CIfdar

D.IHAR

A AR

Which of the following options best combines the two given sentences?

The ruling party did many developments in the state. It's a million dollars
question about their success.

A.The ruling party did many developments in the state, however, it's a
million dollars question about their success.

B.As the ruling party did many developments in the state, its a million
dollars question about their success.

C.Because the ruling party did many developments in the state, it's a million
dollars question about their success.

D.While the ruling party did many developments in the state, it's a million

dollars question about their success.

A.The ruling party did many developments in the state, however, it's a
million dollars question about their success.

Choose the option that has the correct spelling for the missing word in the
given sentence:

The food was served on the by my mother.

A.playte
B.plait
C.plate

D.plat

C.plate



Reference ID:(16906)  Wcicideh! HIUT "Heb-Tad%’ I JAUATRR Yafdd gla?
A3 §¥e
B.4l. 3R, 3fidSH

C.ifaer Bl

D.UH.TA. g

Answer: B.. 3R, 3fdSH

Reference ID:(16922)  Wciiaides! HIUT HeaHed S FTaial URIEE Ieioidb iTed 3nfor o fam
CHIATSIToTe TRITID HTOT 3[eef Med?
AgHT faHT
B.3{HIT UTRiohY
C. 3 SfarHl
D.3{fS Uit

Answer: D. 3o Dol

Reference ID:(16926)  TRIR] Il
55, 69, 87, 26, 14 & 55

A.65
B.88
C.51

D.98

Answer: C.51

Reference 1D:(16658) Choose the option with the appropriate suffix to complete the given
sentence:

What he says is in the realm of imagination. It is highly hypotheti .

A.-city



Answer:

Reference 1D:(16901)

Answer:

Reference ID:(16652)

Answer:

Reference 1D:(16700)

Answer:

B.-cal

C.-ment

D.-en

B.-cal

AN ST TRTAT “SIFTfp oI f& uresar Srd?

A.22 TTd
B.23 AT
C.24 A
D.25 A/

A.22 9

Choose the sentence with the correct punctuation to convey the right
meaning.

A.Mina said to Neha, Don’t play with my toys.
B. Mina said to Neha, “Don’t play with my toys.”
C.“Mina said to Neha, Don’t play with my toys”.

D.Mina said to Neha don’t play with my toys.

B. Mina said to Neha, “Don’t play with my toys.”

AT UBR 2015 AS! HERTY I SN HEAT ]
3.

Aol
B.ATRR
c.hss

D.3fgHcldlq

cHss



Reference 1D:(16694)

Answer:

Reference ID:(16913)

Answer:

Reference 1D:(16928)

Answer:

Reference 1D:(16941)

Jeid arTdid 3o 3ieswl.
fopcita! STat 7ur fAreTad qar?
AT

BT

c.gan
XCIGIES]

ATDt

B0 N AFYHGR 3gwda 352 Sidiid Ufgediar STuchlosrd! aIyul el
T2

A.26 ldIaR 1962

B.26 3iiaclar 1961

C.26 3fidIaR 1960

D.26 3{IdcIsR 1963

A.26 3HTacIar 1962

B UM § TIad 3ieR/fg/ ST AisiviaR UG 3MTed, U IR o
A8B6#7HU%3$FVR21@1VIWEQOLS5

WA DI ST ClbTh g ad PHIvT 3?2

A1
B.R
C#

D.%

D.%

T fdohdl 1920 TUFT I Weal Hal, o fadll 20% e & fash! ol
Ul d1g! ITAT 20% %1 gidl. SdTGA! fasht fhHd 1T 3iig?

AX. 1159
B.%. 1550

C.%. 2304



D.®%. 1785

Answer: C.%. 2304

Reference ID:(16927) Wit fadiedT IR URuTtiert SI0TaT Uil WTel! fecient gamsft srgeuot Sod
AT81?
Ist Floor, Sheikh Ul Alam Complex, Near Gousia Masjid,
Nowpora, Srinagar, Jammu and Kashmir 190003

(i) Ist Floor, Sheikh Ul Alam Complex, Near Gousia Masjid,
Nowpora, Srinagar, Jammu and Kashmir 190003

(ii) Ist Floor, Sheikh Ul Alam Complex, Near Gousia Masjid,
Nowpora, Srinagar, Jammu and Kashmir 190003

(i) Ist Floor, Sheikh Ul Alarm Complex, Near Gousja Masijd,
Nowpora, Srinagar, Jammu and Kashmir 190003

(iv) Ist Floor, Sheikh Ul Alam Complex, Near Gousia Masjid,
Nowpora, Srinagar, Jammu and Kashmir 190003

B.ii
C.iii

D.iv

Answer: C.iii

Reference 1D:(17449) Tl feoredT FATEE, O¢ FH1oTdr 3T As?

L



Answer:
Reference 1D:(16665) Choose the correct form of modal auxiliary verb for the given sentence:

Although he didn't have a ticket, Ken allowed to come in.

A.could be
B.can be
C.might

D.was

Answer: D.was

Reference ID:(16912)  SiI1 fSHR] HST USSR AT g TRBR 2019 DIV HRA
s  fSear

Afaep uea
B.fdshH T[w
c.fasH sfric
D.fashH Huies

Answer: AfapT ucq



Reference ID:(16924)  UdhI dTg-TAT SfdR-adT 3HTeG UM TS R SIUMRT XN 3T, Eae 3
& Id B1 d T8

A STEHT O TIdHH 38
B.RR I = 3R
C.avaT fad MfawH $ifg
D.RRR 318

Answer: B.RR g nifad ™= G{I%

Reference ID:(16679)  Slle¥lsq Adcdl Xeg el

A.3fTfHTd

B.HTHIDIUR]

cIsdrs

D.TSTHR ST

Answer: A 3MeHAMT

Reference ID:(16663) Choose the most suitable determiner for the given sentence:

Shakespeare said that some achieve greatness while have it thrust
upon them.

A.other

B.some

C.much

D.those

Answer: B.some

Reference ID:(16930)  XTold 8 ANIYdl AW 1. T ITHH a0 § AT TUTA desedT aaTAT 6/5 U
3{T8. ST AU doo| T Sfg0T ATHTUET 10 I T8 Biail. ol Sigund
I P 3M1g?

A.32 9%



B.36 d%
C.38 9%
D.40 9%

Answer: C.38 a%

Reference ID:(16907)  f&HR 2018 AeY HERIYTAT Y& HAGR Y= DAl SRIPIY QS
QAU BIUT ATd AT ST
AL 3R, 3fieSH
B.3fcd fagRy arerud

R CIRGIRERS

D43 BTG Ha

Answer: B.3{cd ﬁ‘s’ﬁ ettt

Reference ID:(16914) TS STeHR| shHih 85 HERIFIAA TelaR fRyd 3fre.

Answer: e SINED

Reference 1D:(16669) Choose the appropriate conjunctions for the given sentence:

Shall we watch TV go for a walk?

A.but
B.because
C.or

D.and

Answer: C.or



Reference 1D:(16684)

Answer:

Reference 1D:(16932)

Answer:

Reference ID:(16938)

Answer:

Reference ID:(16687)

c.fady

Greil fadiedn Yacued sidiar T i1y oy faddr 3118, YR g iar A
3fics .

2,11, 27, 113, 560, 3369, 23581

A27
B.11
C.113

D.560

D.560

SR 120 forHT iR Yea- M1 IART SR HRA HIU, TR 600 forHT TaramTe!
313 T AT, ¢ 200 fpet 311fOr IR 3R HRA HIUAT STURHT 20
e ARTATd. &1 ST oiTTe HIRAT AIRIT 3Reie UIRR B 3HTg?

A3:4

B.2:3

CA1:2

D.1:3

A3:4

feoiedn uTqe v fohamue sieswr.
dt-fooy

Afuq

B.fudl

c.fudra



Answer: Dﬁa_ol?f

Reference ID:(16933)  Rar SIft v S Fag @ quf &
3,14,39, _ , 155,258

A.84
B.88
C.92

D.96

Answer: A.84

Reference ID:(16903)  WERTYT=AI & WA 941 5 aufen sfieifiies dIRUMe FHeft SFATERU dat?

A.18 A 2019 Sht
B.26 ATd 2019 ISl
C.16 ATE 2019 it
D.6 ATd 2019 Sit

Answer: D.6 AT 2019 Jeit

Reference ID:(16674) Choose the option that best expresses the meaning of the highlighted
idiom/phrase:

Keep both feet on the ground

A.Cry over spilt milk
B.Don'’t get carried away by emotions
C.Get off the couch

D.Make opportunities

Answer: B.Don’t get carried away by emotions

Reference ID:(16692)  aId araTd fabdit f[ARINUr 31Ted, o 3ficsl.
o1 fad ueiiee i i Shas



AR
B.3
C.%

D.4

Answer: AR

Reference ID:(16698)  JaId AIayRIRI<AT A S{dT Uaid e,
gIAURaR U] -

AT AT
B.IgA ¢l

C.HATeR YU
D. 3R gor

Answer: D. 3R Eﬁﬁf

Reference 1D:(16656) Fill in the blank with the correct noun for the given sentence:

The contract were drawn between the two countries amidst tight

A.negotiable ... secrecy
B.negotiations ... security
C.negotiates ... sacredness

D.negotiable ... surety

Answer: B.negotiations ... security

Reference ID:(16931) 15 3R 1947 IUSit SMTEASATT DIUIAT fGad gldT?

A R[HAR
RUBEIR

CIfdar
D.IHAR

Answer: A[hdIR



Reference ID:(16919) WS WA&Ul TRGR 2019 T Hafd W WX WU WIeaddh! HIurer
YR &R GRIPd DHRUTMd 3Tal?

AZER

B.fawareT

Answer: A.'Sj_caT

Reference ID:(16691)  JaId ATHIAT 3T faRISUT=T o fAger.

B.gWC

C.3H P

Answer: B.gWc

Reference ID:(16940)  HUc-gR dHAA AT 8T USRI IO f[eifteniaed 5:3 A1 OIRRIG faaid
Dl ST, SR MBI TeAT 55 3R-d 3for feifUspidl T 70 3/ Sfor
O BT fHesTeiel XahH 12,000 T 3d, TR HHIAT TRl
UH U IFHY BT Blal?

A.11 9RE ST

B.12.25 ARG ST

C.10.56 TG ST

D.16 ARG ST



Answer: C.10.56 wwﬁ

Reference ID:(16685)  faciedT STesld ufkad= HRuaIe! arg wafg fAasr.
Pleo! oies faurd 3. (ifd Hidws®)

A fqurd srar

B.faurg Sg@
c.faurd gra

D.faurd 3™

Answer: B.faurg \—:ns‘a

Reference ID:(16677)  faciedr Wsgierdd favgrd 2rsq i,

A TRWRATT

B.3{Idsdl

C.3MYfd

RNICRIEE

Answer: D.?ﬂéﬂ%

Reference ID:(16693)  3Hdmad-id U add dxl.

A RTTes T SRS RIfé it Surft fieaen.

B. &< SHRA TG Rifére o fiesadr,

C. ST SARGTS! SR fiesad,



D.RNTe5 =T FARGHATS! fRiféis Surf fiyesa

Answer: C XM SHRANTS! GURTT fHesadl.

Reference ID:(16946) U <0 ORI TadbaR ! TTUMHT fash! fhadiar o Iroita @ve) fhadiar
HIA. AT TR B 150 U AT JiFT S d. SR T S
faep! fhad IRt 38 31T SIS 50% AWT fHesd 3. dr i fasht
fhad orer.

AX. 620
B.%. 900
C.%. 870

D.%. 750

Answer: B.®. 900

Reference ID:(16662) Choose the correct form of verb for the given sentence:

Due to the high fees, it seems that higher education nowadays is for
those who can afford it.

A.planned
B.given
C.imparted

D.meant

Answer: D.meant

Reference ID:(16670) Choose the most appropriate usage to fill in the blank in the given sentence:

Some people feel that parents are the best for their children.

A.instructive
B.instructions
C.instructor

D.instructors

Answer: D.instructors



Reference ID:(16942) A 3{Tf0T B U A0 T &M 30 fiawid quf & wdard. @i 20 feaw waa
DHTH Bl AT T B HTH g Tl SURdT 20 fGawiaR, A 7 FRieas & guf
&dl. Thel A fodl feadid &1 guf o= Traar?

A.40 feag
B.50 faag
C.54 faag

D.60 feag

Answer: D.60 feaqg

Reference ID:(16948) U add! Td 60% 3T W . T IUT 20% T ATeal 30T AT Tlal
10% =t dTea. AT JadAe fad Tad ge me?

A10%
B.15%
C.20%

D.25%

Answer: A.10%

Reference ID:(16675)  faciedT egiTerqd arg THTT Trsg fAasT.
o

A&R
B.AR

C.&lR

D.US

Answer: C.&R

Reference ID:(16908)  HRATHT HIUAT gQRUAR HU-M GRUdR [AUTTIH S (S13fIeT) wege-Adid
HdcIGIc Il GRATT Uddl 38?




A TSR
B.STTATA
c.Ramm=g f5an

Answer: B.STguATd

Reference ID:(16917)  WHiAUD! HIUIAT HRATT ISTHRUGTAT WAL W= gfagid s H19 e
T 3SR 301t Ryeglel FRie F T 1T Pai?
A T TR
BT ATy Bifda
C. g Aidl

D.fog=r e

Answer: A gYHT AR

Reference ID:(16925)  W@Tal faciedl Urd S&HATHS UaT:
851, 743, 624, 319, 298

R faadt gafd Adt TB Wieltats! B 3Re?

A.624
B.298
C.743

D.319

Answer: A.624

Reference 1D:(16680) WW%"T 3fiesT.



B. Tl

D.IHIfCHT

Answer: B.Eﬂﬁ‘m

Reference ID:(16944)  WTdit f[adied @A 3ichial U a1y ovH faddr 38, AR b ial hH
3{IesaT:
73,57, 49, 44, 43, 42
A.73
B.57

C.49

D.44

Answer: D.44

Reference ID:(16902)  fogR fawr HToRT #RUAR HRUI S 3M8?
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